CHAPTER 1 : FOUR OPERATION OF WHOLE NUMBER

# Numeral System (GC3%)

- Whole numbers (52440 = 0,1,2,3,4,5,6,7,8,9,10,11......
- Natural numbers (H %8%%) = 1,2,3,4,5,6,7,8,9,10,11......

Billion Hu.n(%red Te? Million Hundred Ten Thousand| Hundred | Ten | One
Million Million Thousand | Thousand
+1z 1Z. 75 D] +5 i) T El + | A
1x1000 000 000 1x100 000 000 | 1x10 000 000 |1x1000 000 | 1x100 000 | 1x10 000 | 1x1 000 | 1x100 |1x10| 1
# K1
# YR 1 # Pl 2

Write the number in words
~ 2673 = Two thousand six hundred and seventy-three

# The Four Operations 3B

(Sum, total Fi1)
(Subtracting, difference 7%)

- Addition %
- Subtraction JEii%
- Multiplication {5 (product #1)

- Division B&ik (quotient P%, remainder 43%%)

# Law of Arithmetic Operations

1 Commutative Law (3Z#fR)

|a+b=b+a |

|axb=bxa |

! BIEFBRIER R AR, RABRRF

2 Associative Law (5581)

l(a+b)+c=a+(b+c) |

|(axb)xc:ax(bxc) |

! RIEFIBRET RE a8, RAERTR

3 Distributive Law (5 #H2HR)

Express the number in expanded form
~ 6789=(6 x 1000) + (7 x 100) + (8 x 10)+(9 x 1)

# Order of operations JES3IR

1 &5 (Bt
2 SeFRBRfE
3 \NERIA
# B3 95+[35+(15-4x2)]
=95+[35+(15-8)]
95 +[35+17]
=100

#PBIE4 50x67x2

=67x50x2 (* )
=67x(50x2) (* 461
=67 x 100

= 6700

#BIRES 30+2+20+2

= (30+20)=2 (4 HEE)

(atb)xc=(axc)x(bxc)or
cx(axtb)=(cxa)xt(cxb)

=50+2
=25

|(aib)+c=(a+c)i(b+c)
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# Average (F5))

# Yilrl 6
Total The height of students are 158cm,160cm,
Average = 5 . .
Units 164cm and 170cm respectively. Find the average
height of the group of students.
X
% - B | |
NK Solution ~ (158 + 160 + 164 + 170 ) + 4
= 652+4
# Distance Traveled ({TH2 4 &) =163
4 The average height are 163cm.
Total Distance
Speed = -
Total Time
. S
L = N
. it ]
# Bilei 7

The distance between Jay's house to office is 360km. Jay traveled at an average speed of 90km/h
from his house to office. He took one hour longer to return home from his office.
Calculate the average speed for return journey.

Solution ~
Total Distance = 360km
Average speed from home to office = 90km/h

Time taken from home to office = 360
90
= 4 hours

Time taken from office to home = 4 hours + 1 hours

= 5 hours
4+ Average speed for return journey = 360
5
= 72km/h
# 1555 8 # Y@l 9
Convert 36km/h to m/s. Convert 30m/s to km/h.
Solution ~ Solution ~
1 hour = 60 minutes 1 hour = 60 minutes
60 minutes = 3600 seconds 60 minutes = 3600 seconds
1 km=1000 m 1 km =1000 m
36 km =36 000 m
30 m
36 km 30mis =
36 km/h =
lh
= 30 x 3600
= 36x 1000 1 x 1000
1 x 3600
=108 km/h

10 m/s



